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PHILOSOPHY — HONOURS
Paper : CC-8
(Western Logic : T)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate Sfull marks.

. Choose the correct option (any fen) : 1x10

(a) ‘No materialists are theists’ and ‘Some materialists are not theists’— the relation between these two
propositions is

(i) Sub-contrary (i) Conirary

(iii) Subalternation (iv) None of these.
(b) The contraposition of ‘All § is non-P’ is
@ All non-S is P (iiy All P is non-S
(iii)y All non-S is non-P (iv) Some S is non-P.
(¢) If the conclusion is true, a deductive argument will be
(i) invalid
(i) valid
(i) sometimes valid, sometimes invalid
(iv) None of these.
(d) In which of the following forms involve the fallacy of illicit minor?
(i) AIl—2nd Figure (i) EIO — 1st Figure
(iiiy AAA —3rd Figure (iv) None of these.
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(e) ‘Only a few students are lazy’ is
() an exclusive proposition
(i) an exceptive proposition
(iii) a hypothetical proposition
(iv) None of these.
(f) The mood of a categorical syllogism is determined by
(1) the types of categorical propositions it contains.
(i) the position of the major term.
(iii) the position of the middle term
(iv) by the copula.

(g) What is the probability of getting either 2° or ‘4’ in rolling a dice?

1 o1
0 @i 3
1 :
(i) 7 (iv) None of these.

(h) Which of Mill’s inductive method has been applied in the following schematic example?

Antecedent Consequent
ABC abc
BC bc

~. A and a are causally connected.

() Method of Residues (i) Method of Concomitant Variation
(i) Method of Agreement (iv) Method of Difference.

(i) Which relation of opposition of proposition is accepted in modern logic?
(i) Contrary (i) Sub-contrary
(iii) Contradictory (iv) Subalternation.

() ‘All good professors are learned persons. Only learned persons are good orators. Therefore all good
orators are good professors.” — The fallacy committed in this argument is

(i) Fallacy of four terms
(i) Fallacy of ambiguous terms
(iii) Fallacy of undistributed middle

(iv) Fallacy of illicit major.
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(k) ‘Few grapes are sour-— the transformation of this sentence into standard form categorical
proposition is '
(i) Some grapes are not sour.
(i) Some grapes are SOur.
(iii) All grapes are sour.
(iv) No grapes are sour.

() ‘No dishonest persons are responsible persons because no dishonest persons are wise persons’—
is an example of which of the following argument?

(i) enthymeme (i) standard form categorical syllogism
(iif) mixed syllogism (iv) None of these.
2. Answer the following questions briefly (any five) 5%5

(a) Distinguish between deductive and inductive arguments.

(b) Prove the following statement :
According to Boolean logicians, “BRAMANTIP’ cannot be a valid mood.

(¢) What is meant by a complementary class? Determine what would be the complementary class of
a complementary class.

(d) What is meant by ‘existential import’ of a categorical proposition? Explain with examples.
(e) Explain with a concrete example, Mill’s method of Residues.
(f) What do you mean by dilemma? Distinguish between constructive and destructive dilemma.
(g) Explain with examples, the favourable outcome and unfavourable outcome related to probability.
(h) Translate the following into standard form categorical propositions

(i) If any object is rare, then it is not cheap.

(i) All stones, except diamond, are less expensive.

(iii) Only a handful of Indians are atheists.

(iv) Poisonous snakes exist.

(v) One who is honest, is happy.

Answer any two questions.

3. (a) Explain the categorical propositions in terms of class-—relationships.
(b) Is conversion of ‘O proposition’ possible? Answer with justifications.
(¢) Represent in Boolean equations and venn diagrams :
(i) Non-rationalist philosophers exist.

(ii) There is no mountain which has not been climbed by somebody or other. §4+3+(2+2)
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Test the validity of the following arguments by means of Venn diagrams (any three) : 5%3

(a) All who are frequently intoxicated are undependable; so all who are dependable, are non-alcoholics, -
since all alcoholics are frequently intoxicated.

(b) No enthymeme is complete. So this syllogism is incomplete.

(¢) There are beautiful humans, but humans alone are vile; therefore it is never true that whatever is
beautiful cannot be vile.

(d) AAT-3rd Figure.

Explain following Copi, Joint method of Agreement and Difference. Does this method discover and prove
the causal relation? Give reasons for your answer. 10+5

Answer the following (any three) 5%3

(a) There are S red, 10 white and 15 black balls in a box. What is the probability of getting three balls
of same colour in three successive draws of balls from the box, if the drawn ball is returned before
drawing the next ball?

(b) What is the probability of getting three aces in three successive draws from a deck of cards,
(i) if the cards drawn are replaced before next drawing? and
(ii) if the cards are not replaced before next drawing?
(c) What is the probability of getting at least one head and at most one head in three tosses of a coin?

(d) Four men kept their respective umbrellas at the corner of a room and sat together for a game of
cards. When they started for their homes after the game of cards was over, what is the probability
that each of them would pick up his own umbrella in the dark, given that they picked up umbrella
one by one and no two men picked up the same umbrella?



